viain Ideas/Questions Notes 1.4 B Measuring Angles
Measuring Hngles » One way fo measure the size of an angle is in

AClyc\e has_0WO0 . So 1 degree 553—23 of the circle.

A _@]ﬁ:{_@j’i_ forms a half circle and measures

angles from 0° - 180°

a) Find meLkN V80735 = (45

b) Find meJkL 40 -35 = 55

c) Find m£JKN a0’

d) Find meHKN __| 80
18P

ANGLE If D is in the inferior of 2ABC, then AN [P
ZABD ¥ LOBC =L ABC @
ADDITION [~<A8P<o8e=s Ve,
Pontulate 9 chees odd b = total
1.1f mzABD = 48° and m«DBC = 78°,
WMM’ Use the diagram below to answer | find mzABC. .
questions 1 and 2 q?ij? = |2
4 D 2. mzDBC = 74° and mzABC = 119°,
find m<ABD. .
s W14 = 45
3. If mePQR = 141°, find each measure. LS 7 13(Yi 4
133y F1ox 4514 = F
Toxrs= 4] < Seenoled -]
-3 =2
. - b
2;22(_ = ‘ﬁz * .
=5 23 m/PQS = i
X = m/ZSQR = 56)
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4.1 mzDEF = (7x + 4)°,mzDEG = (5x + 1)°,and m£GEF = 23, find each
meaqsure.

E Extl t33= 7xt <
Bx v24 =Ixt
NS - :j_ x=_|0O
ey DEG=_5 |
q __2;(( 20 -5Y m/DEF = "1 l
“xt — -
20™= 2% , Das= 5C10) +]
p 3 > =5
JO=X ceDEF = 20014
— ')4'

5.If £DEFis a s’rroighﬁ’:ngle, m<DEG = (23x — 3)°, and m£GEF =
(12x + 8)°, find each measure.

\Bo
~—" N\ = 5
G m/DEG= 113"
>3 [laxt¥ msGEF=_\WE"
D E F m/DEF=_|Z0 "
22x-Dr1dx +B = \g0 ZDEG =33(5)"3
25% +5 = 170 LEEE= \3(8)1 %
Y2 ,é GEF = 3
225 X=¢

6. If msTUW = (5x + 3)°, mzWUV = (10x — 5)°, and m£TUV = (17x — 16)°, find
each measure.

T
5> e= |
wy %1y '
4 Ox-§ msTUW =
méWUV:_(_Q_S—
5xt3 69)(_‘_5’ %~ msTUV= 103"
5% -2 Fx-bv 2 TON = 507 +3
-isx ¥ ~SX- WUV = |0 -5
sz 9"‘5‘&,’ 2ruv = 0
\ e
b2
X<
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